
MFC-3F follow focus with adjustable friction

0500-0035
Version Date: 8-5-2018 11:32

Vocas Systems b.v. info@vocas.com www.vocas.com Page: 1/1

Item No. Part Number Qty Description

1 05.237.01 2 Knurled knob M4

2 05.229.01 1 T nut M4

3 749001 2 Ring M4 BLGEST-MN

4 07.010.01 1 Screw M4x20 din 96...

5 05.350.02 1 15mm bracket 3

6 05.362.02 1 Main shaft

7 05.360.02 1 Friction adjustment

8 05.361.04 1 Follow focus knob 4

9 05.364.01 1 Screw M4x40 din 96...

10 05.366.02 1 05.366.02 spring N6

11 09.032.01 2 pin 4h6x24-st-DIN6...

12 09.025.01 1 Screw M4x30 din 96...

13 05.353.02 1 Outer housing

14 05.355.00 2 Ball bearing 44 x 35 ...

15 05.354.00 1 Ring 40x35x1

16 05.356.00 1 Circlip ring 35 DIN5...

17 05.359.01 1 Pin 2,5m6x8 DIN6325

18 07.208.01 2 Preasure piece ZID...

19 12.218.01 1 Screw M3X3 DIN 91...

20 05.358.01 1 Dove tail bracket (wit...

9

7

18 10

11

8

6

14
14

16

13

19

5

4

1

3

20

2

17


